

Republic of the Philippines
Department of Agriculture
BUREAU OF SOILS AND WATER MANAGEMENT
SRDC Building Elliptical Road corner Visayas Avenue,
Diliman, Quezon City 1101
customers.center@bswm.da.gov.ph
Tel. no. (632) 8273-2474 local 3202

## NOTICE OF AWARD

JESUSA G. BAUTISTA
Proprietor
V-JECS Trading
2-B Lacsamana St., Quirino, Poro
San Fernando City, La Union

## Dear Ms. Bautista:

We are pleased to inform you that your bid dated February 13, 2025 for the execution of the contract for the Re-Bid of Supply and Delivery of various Agricultural Inputs, supplies and materials for FY 2025- IB No. BSWM 2025-01-029 Lot 1 (PhP 6,193,060.00), Lot 2 (PhP 6,046,860.00), Lot 3 (PhP 6,207,660.00), and Lot 15 (PhP 1,220,065.00) with a total Contract Price equivalent to Nineteen Million Six Hundred Sixty Seven Thousand Six Hundred Forty Five Pesos (PhP 19,667,645.00) undertaken through Public Bidding being the Lowest Calculated and Responsive Bid (LCRB) has been accepted.

LOT	DESCRIPTION	QTY	AMOUNT	TOTAL
1	LSD-NSHP: Inorganic Fertilizers			
	AGRI INPUTS 2025-00-0027   LFP-NSHP			
	Inorganic Fertilizers (CAR)			
	RICE			
	Complete (14-14-14), 50kgs/bag	816	1,795.00	1,464,720.00
	Urea (46-0-0), 50kgs/bag, Granular	800	1,795.00	1,436,000.00
	Muriate of Potash (0-0-60), 50kg/bag	200	2,595.00	519,000.00
	Zinc Sulfate, 25 kg/bag	16	3,995.00	63,920.00
	CORN			
	Ammonium phosphate (16-20-0), 50 kg/bag	900	1,595.00	1,435,500.00
	Urea (46-0-0), 50 kg/ bag	276	1,795.00	495,420.00
	Muriate of Potash (0-0-60), 50 kg/bag	300	2,595.00	778,500.00
	Date of Delivery: On or before November 28, 2025		SUBTOTAL 6,193,060.	6 103 060 00
	Place of Delivery: BPI Cmpd, Guisad, Baguio City			0,193,000.00





2	RICE	j		
	Complete (14-14-14), 50kgs/bag	816	1,795.00	1,464,720.00
	Urea (46-0-0), 50kgs/bag, Granular	800	1,845.00	1,476,000.00
	Muriate of Potash (0-0-60), 50kg/bag	200	2,195.00	439,000.00
	Zinc Sulfate, 25 kg/bag	16	3,995.00	63,920.00
	CORN			
	Ammonium phosphate (16-20-0), 50 kg/bag	900	1,595.00	1,435,500.00
	Urea (46-0-0), 50 kg/ bag	276	1,845.00	509,220.00
	Muriate of Potash (0-0-60), 50 kg/bag	300	2,195.00	658,500.00
	Date of Delivery: On or before November 28, 2025		SUBTOTAL	6,046,860.00
	Place of Delivery: Sta. Cruz, Zambales, Moncada, Tarlac, San Rafael, Bulacan			
3	RICE			
	Complete (14-14-14), 50kgs/bag	816	1,845.00	1,505,520.00
	Urea (46-0-0), 50kgs/bag, Granular	800	1,845.00	1,476,000.00
	Muriate of Potash (0-0-60), 50kg/bag	200	2,345.00	469,000.00
	Zinc Sulfate, 25 kg/bag	16	3,995.00	63,920.00
	CORN			
	Ammonium phosphate (16-20-0), $50 \text{ kg/}$ bag	900	1,645.00	1,480,500.00
	Urea (46-0-0), 50 kg/ bag	276	1,845.00	509,220.00
	Muriate of Potash (0-0-60), 50 kg/bag	300	2,345.00	703,500.00
	Date of Delivery: On or before November 28, 2025		SUBTOTAL	6,207,660.00
	Place of Delivery: Aguila Road, Sevilla Norte			
15	SWRRD-2025-00-0024- LFP-NSHP			
	Complete fertilizer (14-14-14), 50 kg/bag	132	2,395.00	316,140.00
	Urea (46-0-0), 50 kg/bag	70	2,395.00	167,650.00
	Ammonium sulfate (21-0-0), 50 kg/bag	16	1,495.00	23,920.00
	Muriate of Potash (0-0-60), 50 kg/bag	8	3,095.00	24,760.00
	DA-BAFPS Registered Organic Fertilizer, 50 kg/sack	104	645.00	67,080.00
	Insecticide (1 litre per bottle) Active ingredient: Chlorpyrifos	4	1,000.00	4,000.00
	Herbicide (1 litre per bottle) Active ingredient: Oxadiazon	1	2,000.00	2,000.00



Herbicide (1 litre per bottle) Active ingredient: Fluazifop-p-Butyl	1	2,000.00	2,000.00
Fungicide (250g per pack) Active ingredient: Manconzeb	4	600.00	2,400.00
Delivery Terms: On-site delivery at Pasuquin, Ilocos Norte on June 17-20, 2025			
SWRRD-2025-00-0025- LFP-NSHP, Batch 1			
DA-BAFPS Registered Organic Fertilizer, 50 kg/sack	50	645.00	32,250.00
Complete Fertilizer (14-14-14), 50 kg/bag	45	2,395.00	107,775.00
Urea (46-0-0), 50 kg/bag	35	2,395.00	83,825.00
Muriate of Potash (0-0-60), 50 kg/bag	3	3,395.00	10,185.00
Zinc Sulfate fertilizer, 20 kg/bag	1	3,495.00	3,495.00
Delivery Terms: Region 3 On-site delivery at San Jose City, Nueva Ecija on April 1-4, 2025			
Batch 2			
DA-BAFPS Registered Organic Fertilizer, 50 kg/sack	70	645.00	45,150.00
Complete Fertilizer (14-14-14), 50 kg/bag	84	2,395.00	201,180.00
Urea (46-0-0), 50 kg/bag	26	2,395.00	62,270.00
Locally-produced Biofertilizer, FPA/BAFS registered and categorized as Biofertilizer Expiration date not earlier than January 2026	35	300.00	10,500.00
Delivery Terms: On-site delivery at San Jose City, Nueva Ecija on August 26-29, 2025			
Batch 3			
DA-BAFPS Registered Organic Fertilizer, 50 kg/sack	10	645.00	6,450.00
Complete Fertilizer (14-14-14), 50 kg/bag	10	2,395.00	23,950.00
Urea (46-0-0), 50 kg/bag	3	2,395.00	7,185.00
Locally-produced Biofertilizer, FPA/BAFS registered and categorized as Biofertilizer Expiration date not earlier than January 2026	5	300.00	1,500.00





		GRAND TOTAL	19,667,645.00
Delivery Terms: On-site delivery at Central Luzon State University, Nueva Ecija on August 26-29, 2025		SUBTOTAL	1,220,065.00
Fungicide (250 g/pack) Active Ingredient: Manconzeb	4	600.00	2,400.00
Herbicide (1 litre per bottle) Active Ingredient: Fluazifop-p-Butyl	1	2,000.00	2,000.00
Herbicide (1 litre per bottle) Active Ingredient: Oxadiazon	1	2,000.00	2,000.00
Insecticide (100 mL per bottle) Active Ingredient: Broflanilide	2	3,000.00	6,000.00
Insecticide (1 litre per bottle) Active Ingredient: Chlorpyrifos	2	1,000.00	2,000.00

Pursuant to Section 39.1 of the Implementing Rules and Regulations of Republic Act 9184, you are hereby required to **provide within ten (10) calendar days** from the receipt of this notice, a **Performance Security** and **signed Contract Agreement**. The Performance Security shall be denominated in Philippine Pesos and posted in favor of the Procuring Entity in an amount not less than the required percentage of the total contract price in accordance with the following schedule:

Form of Performance Security	Amount of Performance Security (Not less than the Percentage of the Total Contract Price)
(a) Cash or cashier's/manager's check issued by a Universal or Commercial Bank.	Five percent (5%)
(b) Bank draft/guarantee or irrevocable letter of credit issued by a Universal or Commercial Bank: Provided, however, that it shall be confirmed or authenticated by a Universal or Commercial Bank, if issued by a foreign bank.	Five percent (5%)
(c) Surety bond callable upon demand issued by a surety or insurance company duly certified by the Insurance Commission as authorized to issue such security. Together with the surety bond, a copy of a valid Certification from Insurance Commission must be submitted by the bidder which must state that the surety or the insurance company	Thirty percent (30%)



is specifically authorized to issue surety bond.

Failure to provide and comply the above-mentioned requirement shall constitute sufficient ground for the annulment of the award and forfeiture of the bid security.

Very truly yours,

MARCH 26, 2025

Digitally signed by Nilo Gina Parde DN: cn=Nilo Gina Parde, O, Phreat of Soils and Water Management, ou=Office of the

Digitally signed by Solano Denise Araullo

I acknowledge receipt of this Notice on: Name of the Representative of the Bidder:

Authorized Signature:

MAR 2 6 2025

6 BALLTISTA